o
—
o
-
>
n
=
o
w
o
P

O
N
D
q

P Al2]|=
P %51

D
7

90x120x70 ~ 630x830x285mm

FEATURE | 4 | #E

+ SUS hinge pin, SUS latch and insert

- It is easy to removable cover and base

+ AEIA BIXE, ARIR|A BHA] BRY, QIME QA= HIS
+ 718, Hilo|A EEAF 20|

+ SUSTRIEAT, SRASUSHHN 28R~ @

c ABRARRENRE

SPECIFICATION | At | F=@#igiien

- IP Rating / &4, 4%l BS S5/ BHABikSE | IP66/67

- IK Rating / £ BIAE /et | 1K0S

+ Temperature Range / 2=¥< /5BESEE | ABS:-40~+70,PC:-40~+110
+ Flammability Rating /' / et | ABS © 94-HB, PC 1 94-V-0, 5VA, HB

+ Certification / 1% /AJE | TUV, CE, UL (See page 6/ 6 HO|X| &2 / E55EE65)

2

w2 H1
x H3 H4
| ——
q D PO e g
® @
® @
P @ He
® @ _
® ® N
® @
® @
f ® @
Feoeeoe

P SERIES model name | PAl2|= BT | P25 F=REEHESE

BOXCO o 0 0 o 6 o

BC - | IP- 09 12 07

@ Material / M= / #F - ATABS C:PC

@ Cover/ 7HMA / FazE0E - G L Grey /214 / Ik T : Transparent / &% / &8
© Type/Efel / 23 - SUS Latch / SUS 2%l / SUS 40

@ Width / 7t2 / 52 (W) - Hinge, Latch Installed / $IX1, x| 401 / 5%, BUNREE
© Length/ M= / £E(L)

@ Height / =0I / & (H) - Cover Included / #HZES / 5z

15

S3R3AS d



e HINGE TYPE 8IX| EI! o

Product model / HIZ=% / F=&ES

Qutside dimension
Q& K| / SRR

Inside dimension
LHE %|4= / REBR T

B AN/
EI\JINN\

Mounting plate / &2 / EiRES

N\
N\ ENCLOSURES & CABLE GLANDS

Model Steel Plastic Size(mm)
EEVETS) Size Cover | Base Size /2R Batae] /g Afol= / Rt
(WIxL1xH1/mm) (H3) (H4) (W2xL2xH2/mm)
BC- [1[1P- 091207 90 x 120 x 70 20 50 66 x 97 x 57 0912 S 0811 P 65 x 95
BC- [1IP- 091208 90 x 120 x 85 20 65 66 x 97 x 72 0912 S 0811 P 65 x 95
BC- [1JP- 101507 100 x 150 x 70 20 50 77 x 127 x 57 0813 S 0813 P 65 x 115
BC- [JJP- 101508 100 x 150 x 85 20 65 76 x 126 x 72 0813 S 0813 P 65 x 115
BC- [1JP- 112107 110 x 210 x 75 20 55 86 x 186 x 62 1020 S 1121P 77 x 176
BC- [1[JP- 112110 110 x 210 x 100 20 80 86 x 186 x 87 1020 S 1121P 17 x 176
BC- [1[IP- 112607 110 x 260 x 75 20 55 86 x 236 x 62 1126 S 1126 P 76 x 225
BC- [1[IP- 112610 110 x 260 x 100 20 80 86 x 236 x 87 1126 S 1126 P 76 x 225
BC- [1[IP- 131508 135x 155 x 85 20 65 110x 131 x 72 1315 S 1315 P 102 x 122
BC- [1]P- 131808 135x 185 x 85 20 65 111x161x72 1217 S 1217 P 110 x 159
BC- [1]P- 131810 135x 185 x 100 20 80 111 x 161 x 87 1217S 1217 P 110 x 159
BC- [J[IP- 151509 150 x 150 x 90 20 70 126 x 126 x 76 1515 S 1515 P 123 x 123
BC- [1JP- 151512 150 x 150 x 120 20 100 126 x 126 x 106 1515 S 1515 P 123 x 123
BC- [1JP- 162110 160 x 210 x 100 25 75 136 x 186 x 87 1520 S 1520 P 129 x 179
BC- [1[JP- 162113 160 x 210 x 130 25 105 135x 185 x 117 1520 S 1520 P 129 x 179
BC- [1[IP- 162610 160 x 260 x 100 25 75 136 x 236 x 87 1525 S 1525 P 129 x 229
BC- [1[1P- 162613 160 x 260 x 130 25 105 135x235x 117 1525 S 1525 P 129 x 229
BC- [1[IP- 172211 170 x 220 x 110 30 80 146 x 196 x 96 1520 S 1520 P 129 x 179
BC- [1[1P- 172711 170 x 270 x 110 30 80 146 x 246 x 96 1525 S 1525 P 129 x 229
BC- [1JP- 212110 210 x 210 x 100 25 75 185 x 185 x 87 2020 S 2020 P 179 x 179
BC- [1(JP- 212113 210 x 210 x 130 25 105 185 x 185 x 117 2020 S 2020 P 179 x 179
BC- [1]P- 192810 190 x 280 x 100 30 70 165 x 255 x 84 1928 S 1928 P 159 x 249
BC- [1JP- 192814 190 x 280 x 140 30 110 165 x 255 x 124 1928 S 1928 P 159 x 249
BC- [JJP- 203013 200 x 300 x 130 30 100 175x275x 114 2030 S 2030 P 167 x 267
BC- [1[JP- 203015 200 x 300 x 150 30 120 174 x 274 x 134 2030 S 2030 P 167 x 267
BC- [1[1P- 203018 200 x 300 x 180 30 150 173 x 273 x 164 2030 S 2030 P 167 x 267
BC- [1[1P- 253515 250 x 350 x 150 30 120 224 x 324 x 134 2535 S 2535 P 216 x 316
BC- [1[1P- 253518 250 x 350 x 180 30 150 223 x 323 x 164 2535 S 2535 P 216 x 316
BC- [1[1P- 282813 280 x 280 x 130 30 100 255 x 255 x 114 2828 S 2828 P 248 x 248
BC- [1]P- 283813 280 x 380 x 130 30 100 255 x 355 x 114 2838 S 2838 P 249 x 348
BC- [1JP- 303015 300 x 300 x 150 30 120 274 x 274 x 134 3030 S 3030 P 262 x 262
BC- [1JP- 303018 300 x 300 x 180 30 150 273 x 273 x 164 3030 S 3030 P 262 x 262
BC- [1JP- 304012 300 x 400 x 120 30 90 275 x 375 x 104 3040 S 3040 P 264 x 364
BC- [1JP- 304015 300 x 400 x 150 30 120 274 x 374 x 134 3040 S 3040 P 264 x 364
BC- [1[1P- 304018 300 x 400 x 180 30 150 273 x 373 x 164 3040 S 3040 P 264 x 364
BC- [1[JP- 353515 350 x 350 x 150 30 120 324 x324x 134 3535S 3535P 314 x 314
BC- [1[IP- 353518 350 x 350 x 180 30 150 323 x323 x 164 3535S 3535P 314 x 314
BC- [1[1P- 354512 350 x 450 x 120 30 90 318 x 418 x 103 3545 S 3545 P 305 x 405
BC- [1[1P- 354516 350 x 450 x 160 30 130 317 x 417 x 143 3545 S 3545 P 305 x 405
BC- [1CIP- 354520 350 x 450 x 200 30 170 316 x 416 x 183 3545 S 3545 P 305 x 405
BC- [1JP- 405016 400 x 500 x 160 30 130 363 x 469 x 144 4050 S 4050 P 358 x 457
BC- [1JP- 405020 400 x 500 x 200 30 170 361 x 468 x 184 4050 S 4050 P 358 x 457
BC- [1JP- 406018 400 x 600 x 180 30 150 360 x 567 x 163 4060 S 4060 P 357 x 556
BC- [1JP- 406023 400 x 600 x 230 30 200 360 x 568 x 213 4060 S 4060 P 357 x 556
BC- [1[JP- 506018 530 x 630 x 185 35 150 478 x 585 x 166 5060 S 5060 P 460 x 560
BC- [1[IP- 506025 530 x 630 x 255 35 220 476 x 576 x 236 5060 S 5060 P 460 x 560
BC- [1[1P- 507018 530 x 730 x 185 35 150 478 x 680 x 166 5070 S 5070 P 460 x 660
BC- [1[1P- 507025 530 x 730 x 255 35 220 476 x 676 x 236 5070 S 5070 P 460 x 660
BC- [1]P- 608018 630 x 830x 185 35 150 578 x 778 x 166 6080 S - (560 x 752)
BC- [1]P- 608028 630 x 830 x 285 35 250 574 x 774 x 266 6080 S - (560 x 752)

16



o
p—
o
-~
>
n
=
o
w
(@)
<

ACCESSORIES | 24 M2] | B2k

[ Steel mounting plate ]

[ Lock(SK) ]

i;y

[ SUS bracket(B40, B50, B60) ]

B40 : P-091207~P-212113 (Screw : 4x10)
B50 : P-192810~P-406023 (Screw : M5x10)

B60 : P-406018~P-608028
(Screw : M5x10, M6x10)

[ Plastic mounting plate ]

[ Plastic lock(PK) ]

o0 :
b0 )

[ Plastic bracket(PB40, PB50) ]

PB40 : P-091207~P-212113 (Screw : 4x12)
PB50 : P-192810~P-507025 (Screw : M5x12)

[ Vent(V60, V80) ]

DUAL DOOR I 0I5 =0{ | XET]

% See page 53 of photo, description / 53 TO|X| AFEl, M &= / EEESITE F 1A

Dual door applicable model / 015=01 X875 NE / ERr=%

Product model /AZ2% / =RES

Model Size Dual door Dual door mounting plate Dual door set
o /8s (WXLxH/mm) OIZE=0] / IBEMFRT =t/ iR ErMREH

BC- (1JP- 203013 200 x 300 x 130 BC- F203013 BC- FA2030 BC- FA203013
BC- [1[JP- 203015 200 x 300 x 150 BC- F203015 BC- FA2030 BC- FA203015
BC- [(I]P- 203018 200 x 300 x 180 BC- F203018 BC- FA2030 BC- FA203018
BC- [1[JP- 253515 250 x 350 x 150 BC- F253515 BC- FA2535 BC- FA253515
BC- [J[JP- 253518 250 x 350 x 180 BC- F253518 BC- FA2535 BC- FA253518
BC- (1[JP- 282813 280 x 280 x 130 BC- F282813 BC- FA2828 BC- FA282813
BC- [1[JP- 283813 280 x 380 x 130 BC- F283813 BC- FA2838 BC- FA283813
BC- (1JP- 303015 300 x 300 x 150 BC- F303015 BC- FA3030 BC- FA303015
BC- [1JP- 303018 300 x 300 x 180 BC- F303018 BC- FA3030 BC- FA303018
BC- [(IJP- 304015 300 x 400 x 150 BC- F304015 BC- FA3040 BC- FA304015
BC- [1[JP- 304018 300 x 400 x 180 BC- F304018 BC- FA3040 BC- FA304018
BC- [J[JP- 354516 350 x 450 x 160 BC- F354516 BC- FA3545 BC- FA354516
BC- [1[JP- 354520 350 x 450 x 200 BC- F354520 BC- FA3545 BC- FA354520
BC- [1[JP- 405016 400 x 500 x 160 BC- F405016 BC- FA4050 BC- FA405016
BC- [1[JP- 405020 400 x 500 x 200 BC- F405020 BC- FA4050 BC- FA405020
BC- [1[JP- 406018 400 x 600 x 180 BC- F406018 BC- FA4060 BC- FA406018
BC- [1[IP- 406023 400 x 600 x 230 BC- F406023 BC- FA4060 BC- FA406023
BC- [1[JP- 506018 530 x 630 x 185 BC- F506018 BC- FA5060 BC- FA506018
BC- CICIP- 506025 530 x 630 x 255 BC- F506025 BC- FA5060 BC- FA506025

17

S3R3AS d



